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(38) If two matrices are row equivalent, they must have the same determinant £ Is ¢
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~ (34) If S is a subset of a vector space V' that contai
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Q2 :(26 points) Choose the correct answer.
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- (1) An n x n matrix A is invertible if

(a) there exists a matrix B such that A5 =1

- (b) The columns of A are li
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(a) S is linearly independent

(b) S spans W
(c) the number of vectors in S equals the dimension of W

(d) every vector in W is 2 linear combination of vectors in S

fa) the dimension of W is greater than n
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. (e) None
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(d) (132,3),(0,1,0);(0,0,1),(1,1,1)
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— (b) If U, W are subspaces of a vector space V. Show that U UW need not be a subspace of
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(e) Let § = {(0,a)* : a € R}. Show that S is a subspace of R.
f) Let A, B be symmetric matrices, and AB = BA. Show that AB is symmetric

>@ g { ('Qo) :a€@] o

e 2o, vobe, . BEEE
0 R Bt
‘.> r'\"/ (mf?Aj/

: gsﬁ»f—'ﬁ) Cels) ; (“) .
OM «[Ze“?()-:% oy A A |
5 vccéwi {n S}CS |

| &) sof //(S - XER el (Ki)
Sin Ce oL & €ﬁ =) /"Oﬂ/ 6 S
B . (5P

gT/J(" (A il o pasgliie /))77

B — A /,3 ’s 5) e o ric &
e i

T



e . :
TR TN SR T SRSy, .

} Let : :
(g) Abea square n X n nonsingular matrix. Show that [(edj(A4))| = B
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(h) Let the system Az = 0 have a nonzero solution. If the system Az = b is consistent,

prove that Az = 5 has infinitely many solutions
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